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1. Statistics in terms of nature is : 
(A)   A Science  
(B) An Art  
(C) Neither Science nor Art 
(D) Both Science and Art 

 1. iz—fr dh nf̀”V ls lakf[;dh gS % 
(A) ,d foKku 
(B) ,d dyk 
(C) u foKku u dyk 
(D) foKku ,oa dyk nksuksa 

2. Fixed base index number and 
chain index number are : 
(A)   The same  
(B) Different  
(C) Always 100 
(D) None of these  

 2. fLFkj vk/kkj funZs’kkad rFkk Jà[kyk funZs’kkad 
gSa % 

(A) leku 
(B) vyx&vyx 
(C) lnSo 100 
(D) buesa ls dksbZ ugha 

3. Problems of editing in time series- 
(A)   Adjustment in calendar 

variations  
(B) Adjustment in value of price  
(C) Population changes 

adjustment  
(D) All of above  

 3. dky Js.kh ds lEiknu dh leL;k,¡ % 

(A) dyS.Mj fopj.k esa lek;kstu 

(B) ewY; fopj.k esa lek;kstu 

(C) tula[;k ifjorZu lek;kstu 

(D) mijksDr lHkh 

4. The most suitable index number 
for the study of charge in price 
level influencing a particular class 
of society : 
(A)   Quantity index no. 
(B) Whole sale price index  
(C) Cost of living index no. 
(D) None of these  

 4. lekt ds fdlh oxZ dks izHkkfor djus okys 
dher Lrj ifjorZuksa dk v/;;u djus ds 
fy, loksZŸke funsZ’kkad gSa % 

(A) ek=k funsZ’kkad 
(B) Fkksd foØe ewY; funsZ’kkad 
(C) thou fuokZg funsZ’kkad 
(D) buesa ls dksbZ ugha 

5. Calculate the average mean of 4, 6, 
8, 10, 15, 5 

(A)   4 
(B) 8 
(C) 6 
(D) None of these 

 5. vkSlr ek/; fudkfy, %4, 6, 8, 10, 15,5 

(A) 4 
(B) 8 
(C) 6 
(D) buesa ls dksbZ ugha 
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6. Which law is not based on 

sampling form the following ? 

(A)   Law of inertia of large 

numbers   

(B) Law of Probability 

(C) Law of demand  

(D) Law of statistical regularity  

 6. fuEufyf[kr esa ls dkSu lk fu;e nSo 

izfrp;u ij vk/kkfjr ugha gS \ 

(A) egk¡d tM+rk fu;e 

(B) lEHkkouk fu;e 

(C) ek¡x dk fu;e 

(D) lkaf[;dh; fu;ferrk fu;e  

7. Formula for Least Square Method 

is : 

(A)   ݕ௖ = ܽ +  ݔܾ

(B)  ݕ௖ = ܽ௫ + ܾ 

(C)  ݕ௖ = ݔ + ܾܽ 

(D)  ݕ௖ = ܾ +  ݔܽ

 7. U;wure oxZ jhfr dk lw= gS % 

(A)   ݕ௖ = ܽ +  ݔܾ

(B)  ݕ௖ = ܽ௫ + ܾ 

(C)  ݕ௖ = ݔ + ܾܽ 

(D)  ݕ௖ = ܾ +  ݔܽ

8. What is the formula for calculating 

simple mean using step deviation 

method?   

(A)   ̅ݔ = ܣ + ஊ௙ௗ௫
ே

× ݅ 

(B) ̅ݔ = ஊ௙ௗ௫
ே

 

(C) ̅ݔ = ܣ + ஊ௙ௗ௫
ே

 

(D) None of these  

 8. in fopyu jhfr ls lekUrj ek/; fudkyus 

dk lw= D;k gS \ 

(A)   ̅ݔ = ܣ + ஊ௙ௗ௫
ே

× ݅ 

(B) ̅ݔ = ஊ௙ௗ௫
ே

 

(C) ̅ݔ = ܣ + ஊ௙ௗ௫
ே

 

(D) buesa ls dksbZ ugha 

9. Greater distance between the 

Lorenz curve and line of equal 

distribution shows :   

(A)   Less in inequality  

(B) More equality  

(C) More in the inequality  

(D) None  

 9. ykWjsUt oØ ,oa leku forj.k js[kk ds e/; 

vf/kd nwjh n’kkZrh gS % 

(A) de vlekurk 

(B) vf/kd lekurk 

(C) vf/kd vlekurk 

(D) dksbZ ugha 
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10. Which data is cheaper to collect ?  
(A)   Primary data  
(B) Secondary data  
(C) New data  
(D) Collective data  

 10. dkSu ls lead dks ,d= djuk lLrk gS \ 

(A) izkFkfed lead  

(B) f}rh;d lead 

(C) u, lead  

(D) lkewfgd lead  

11. The difference between actual 
value and estimated value 
determines : 
(A)   Relative Error  
(B) Absolute Error  
(C) Absolute and relative Error  
(D) None of these  

 11. okLrfod ewY; rFkk vuqekfur ewY; ds 

vUrj ls Kkr gksrk gS % 

(A) lkis{k foHkze 

(B) fujis{k foHkze  

(C) fujis{k vkSj lkis{k foHkze  

(D) buesa ls dksbZ ugha 

12. The term statistics was first used 
in: 
(A)   1741 
(B) 1749 
(C) 1745 
(D) 1752 

 12. lkaf[;dh ‘kCn dk loZizFke iz;ksx fd;k 

x;k Fkk % 
(A)   1741 
(B) 1749 
(C) 1745 
(D) 1752 

13. Under Newton’s advancing 
difference method x is equal to-  

(A)   ௫బି௫
௫భି௫బ

 

(B) ௫భି௫బ
௫బି௫

 

(C) ௫ ି௫బ
௫బି௫భ

 

(D) ௫ ି௫బ
௫భି௫బ

 

 13. U;wVu dh izxkeh vUrj fof/k esax= 

(A)   ௫బି௫
௫భି௫బ

 

(B) ௫భି௫బ
௫బି௫

 

(C) ௫ ି௫బ
௫బି௫భ

 

(D) ௫ ି௫బ
௫భି௫బ

 

14. Squares are : 
(A)   One dimensional diagram  
(B) Two dimensional diagram   
(C) Thee dimensional diagram  
(D) None of these  

 14. oxZ gSa % 

(A) ,d&foeh; fp= 

(B) f}&foeh; fp=  

(C) f=&foeh; fp=  

(D) buesa ls dksbZ ugha 
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15. Error is equal to : 
(A)   Distance between the data 

point   
(B) Square of distance between 

the data point  
(C) Half the distance between the 

data point  
(D) None of these 

 15. foHkze cjkcj gS % 

(A) leadks ds e/; nwjh 

(B) leadks ds e/; nwjh dk oxZ 

(C) leadks ds e/; nwjh dk vk/kk 

(D) buesa ls dksbZ ugha 

16. The average of 50 students in a 
class is 20 years. when the age of 
teacher is included the average age 
is increased by 1 year. the age of 
teacher is-  
(A)   55 
(B) 50 
(C) 71 
(D) 51 

 16. ,d d{kk esa 50 Nk=ksa dh vkSlr vk;q 20 

o”kZ gSA mlesa v/;kid dh vk;q tksM+us ls 

vkSlr 1 o”kZ c<+ tkrh gSA v/;kid dh 

vk;q gS& 

(A) 55 

(B) 50 

(C) 71 

(D) 51 

17. Which is not an essential element 

of sampling from following ?  

(A)   Independency  

(B) Representative  

(C) Non–uniformity  

(D) Adequacy   

 17. fuEu esas ls dkSu lk fun’kZu dk vko’;d 

rRo ugha gSa \ 

(A) LorU=rk 

(B) izfrfuf/kRo 

(C) vlekurk  

(D) i;kZIrrk 

18. Unit of analysis and interpretation 
is : 
(A)   Ratio  
(B) Coefficient  
(C) Rates  
(D) All of these  

 18. fo’ys”k.k ,oa fuoZpu dh bdkbZ gS % 

(A) vuqikr 

(B) xq.kkad 

(C) njsa 

(D) ;g lHkh 
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19. Statistical methods are used in the 

following fields : 

(A)   Exact Science  

(B) Socio-Economic fields  

(C) Biology  

(D) Every field of Science and 

knowledge  

 19. lkaf[;dh; fof/k;k¡ fuEu {ks= esa iz;ksx dh 

tkrh gSa % 

(A) iw.kZ foKku 

(B) vkfFkZd&lkekftd {ks= 

(C) tho foKku 

(D) Kku foKku ds izR;sd {ks= esa  

20. In a symmetrical distributionܳଵand 

ܳଶare 30 and 45 respectively then 

the value of ܳଷ is: 

(A)   60 

(B) 45 

(C) 75 

(D) None of these  

 20. ,d lefer caVu esa ܳଵ vkSj ܳଶ Øe’k% 

30 vkSj 45 gSa rks ܳଷ dk eku gksxk % 

(A) 60 

(B) 45 

(C) 75 

(D) buesa ls dksbZ ugha 

21. Coefficient of variation measures 

the :  

(A)   Sample  

(B) Performance  

(C) Consistency  

(D) Attitude  

 21. fopj.k xq.kkad ekirk gS % 

(A) izfrn’kZ 

(B) fu”iknu 

(C) laxfr 

(D) O;ogkj 

22. Which of the following mean is 

used to compare the average death 

rate of two cities ? 

(A)   Geometric mean  

(B) Weighted arithmetic mean  

(C) Harmonic mean  

(D) None of these  

 22. fuEu esa ls dkSu lk ek/; nks ‘kgjksa dh 

eR̀;qnj dh rqyuk djus esa iz;ksx fd;k 

tkrk gS \ 

(A) xq.kksŸkj ek/; 

(B) Hkkfjr lekUrj ek/; 

(C) gjkRed ek/;  

(D) buesa ls dksbZ ugha 
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23. The concept of standard deviation 

was introduced by :  

(A)   Bowley  

(B) Karl Pearson  

(C) Lorenz  

(D) None of these  

 23. izeki fopyu ds fopkj dk izfriknu fd;k 

Fkk % 

(A) ckWmys 

(B) dkyZ fi;Zlu 

(C) ykWjsUt 

(D) buesa ls dksbZ ugha 

24. The median of the observation  

11, 12, 14, 18, x+4, 30, 32, 35, 41 

arranged in ascending order is 24, 

then x is :  

(A)   21 

(B) 22 

(C) 23 

(D) 24 

 24. vkjksgh Øe esa O;ofLFkr voyksdu 11, 12, 

14, 18, x+4, 30, 32, 35, 41 dh ef/;dk 

24 gS] rks x gS % 

(A) 21 

(B) 22 

(C) 23 

(D) 24 

25. The other name of Random 

Sampling is : 

(A)   Chance sampling  

(B) Probability sampling  

(C) (A) and (B) both 

(D) None of these  

 25. nSo fun’kZu dk vU; uke gS % 

(A) volj fun’kZu 

(B) lEHkkfor fun’kZu 

(C) (A) o (B) nksuksa 

(D) buesa ls dksbZ ugha 

26. Statistics does not help business 

in: 

(A)   Determining Place and Size 

(B) Sales forecasting  

(C) Production Planning  

(D) Selection decision of 

Managing Director  

 26. lkaf[;dh O;olk; dh lgk;rk ugha djrh 

gS % 

(A) LFkku ,oa vkdkj fu/kkZj.k esa 

(B) foØ; iwokZuqeku esa 

(C) mRiknu fu;kstu esa 

(D) izcU/k lapkyu dh fu;qfDr fu/kkZj.k 

esa 
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27. Which of the following represents 

median ? 

(A)   ܲ ହ଴ 

(B) ܦ଺ 

(C) ܳଵ 

(D) None of these 

 27. fuEu esa ls dkSu lk ef/;dk dks iznf’kZr 

djrk gS \ 

(A)   ܲ ହ଴ 

(B) ܦ଺ 

(C) ܳଵ 

(D) buesa ls dksbZ ugha 

28. Coefficient of correlation is 

significant if :  

(A)   ௥
௉ିா

>3 

(B) ௥
௉.ா

 =1 

(C) r > 0.075 

(D) ௥
௉.ா

>6 

 28. lg lEcU/k xq.kkad dh lkFkZdrk gS] ;fn  

(A)   ௥
௉ିா

>3 

(B) ௥
௉.ா

 =1 

(C) r > 0.075 

(D) ௥
௉.ா

>6 

29. By skewness we mean : 

(A)   Lack of symmetry  

(B) Flatness of the distribution  

(C) Symmetry of the distribution 

(D) None of these 

 29. fo”kerk ls gekjk rkRi;Z gS % 

(A) lefer dh deh 

(B) caVu dk piVkiu  

(C) caVu dh lefer  

(D) buesa ls dksbZ ugha 

30. The first step in tabulation is : 

(A)   Foot note  

(B) Source note 

(C) Captions  

(D) Classification  

 30. lkj.kh;u esa izFke pj.k gS % 

(A) ikn ys[k 

(B) L=ksr ys[k 

(C) vuq’kh”kZd 

(D) oxhZdj.k 
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31. The index number for the base 

year is always : 

(A)   100 

(B) 0 

(C) Any number  

(D) None of these  

 31. vk/kkj o”kZ dk lwpdkad lnSo % 

(A) 100 gksrk gS 

(B) 0 gksrk gS 

(C) dksbZ la[;k gS 

(D) buesa ls dksbZ ugha 

32. Which method is not used to 

measure secular trend ? 

(A)   Moving average method  

(B) Semi average method  

(C) Freehand curve method  

(D) Ratio to moving average 

method  

 32. nh?kZdkyhu izòfŸk dh eki Kkr djus ds 

fy, fdl fof/k dk iz;ksx ugha fd;k tkrk 

gS \ 

(A) pyek/; jhfr 

(B) v)Z e/;d jhfr 

(C) eqDr gLrjs[kk fof/k 

(D) py ek/; vuqikr jhfr 

33. The index number which adopts 

base year quantity is a method of : 

(A)   Laspeyre  

(B) Pasche  

(C) Bowley  

(D) Fisher  

 33. vk/kkj o”kZ dh ek=kvksa ls ifjdfyr 

funsZ’kkad dh jhfr gS % 

(A) ykLis;j dh  

(B) ik’ks dh  

(C) ckWmys dh  

(D) fQ’kj dh  

34. Population census of the country is 

organised in how many difference 

of years ?   

(A)   10 

(B) 8 

(C) 12 

(D) 5 

 34. ns’k dh tux.kuk fdrus o”kZ ds vUrj ij 

gksrh gS \ 

(A) 10 

(B) 8 

(C) 12 

(D) 5 
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35. The formula for standard error of 
correlation is : 

(A)   ଵା௥
మ

√௡
 

(B) ଵି௥మ

௡
 

(C) ଵି௥మ

√௡
 

(D) ଵା௥మ

௡
 

 35. lg lEcU/k esa izeki foHkze dk lw= gS % 

(A)   ଵା௥
మ

√௡
 

(B) ଵି௥మ

௡
 

(C) ଵି௥మ

√௡
 

(D) ଵା௥మ

௡
 

36. Data for index number should be 
collected from : 
(A)   The wholesale dealers    
(B) The selected group of persons  
(C) The retailers  
(D) None of these  

 36. lwpdkadks ds fy, leadks dk ladyu djuk 

pkfg, % 

(A) FkksdewY; O;kikfj;ksa ls  

(B) pqfuank O;fDr;ksa ds lewg ls  

(C) [kqnjk O;kikfj;ksa ls  

(D) mi;qZDr esa ls dksbZ ugha 

37. Fisher’s formula is : 

(A)   ටஊ௉భ௤బ
ஊ௉బ௤భ

× ஊ௉బ௤బ
ஊ௉భ௤భ

 

(B) ටஊ௉భ௤బ
ஊ௉బ௤బ

× ஊ௉భ௤భ
ஊ௉బ௤భ

 

(C) ටஊ௉బ௤బ
ஊ௉భ௤బ

× ஊ௉బ௤భ
ஊ௉భ௤భ

 

(D) None of above  

 37. fQ’kj dk lw= gS % 

(A)   ටஊ௉భ௤బ
ஊ௉బ௤భ

× ஊ௉బ௤బ
ஊ௉భ௤భ

 

(B) ටஊ௉భ௤బ
ஊ௉బ௤బ

× ஊ௉భ௤భ
ஊ௉బ௤భ

 

(C) ටஊ௉బ௤బ
ஊ௉భ௤బ

× ஊ௉బ௤భ
ஊ௉భ௤భ

 

(D) mijksDr esa ls dksbZ ugha 

38. If the arithmetic mean of 7 
observation is 100 and that of 3 
observations is 50, the combined 
arithmetic mean would be :   
(A)   75 
(B) 65 
(C) 100 
(D) 85 

 38. ;fn 7 voyksduksa dk lekUrj ek/; 100 gS 

rFkk 3 voyksduksa dk lekUrj ek/; 50 gS 

rks nksuksa dk lkewfgd lekUrj ek/; gksxk % 

(A)   75 

(B) 65 

(C) 100 

(D) 85 
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39. Which one of the following is not 

a method of primary data 

collection  

(A)   Interview  

(B) Questionnaire 

(C) Delphi method  

(D) Documents  

 39. fuEu esa ls dkSu lh i)fr izkFkfed leadks 

ds ,d=hdj.k dh i)fr ugha gSa \ 

(A) lk{kkRdkj 

(B) iz’ukoyh 

(C) MYQh i)fr 

(D) izys[k 

40. If the actual age of a person is 50 

years and estimated  age is 45 year 

the relative error will be : 

(A)   .011 

(B) .11 

(C) .05 

(D) .09 

 40. ;fn ,d O;fDr dh okLrfod vk;q 50 o”kZ 

gS vkSj vuqekfur vk;q 45 o”kZ gS rks lkis{k 

foHkze gksxk % 

(A)   .011 

(B) .11 

(C) .05 

(D) .09 

41. Limitation of coefficient of 

skewness is : 

(A)   +1 

(B) -1 

(C) +1to -1 

(D) All of above  

 41. fo”kerk xq.kkad dh lhek,a gSa % 

(A)   +1 

(B) -1 

(C) +1ls -1 

(D) mijksDr lHkh 

42. Cost of living at two different 

cities can be compared with the 

help of : 

(A)   Value Index 

(B) Consumer Price Index  

(C) Volume Index 

(D) Unweighted Index  

 42. nks fHkUu ‘kgjksa esa thou fuokZg dh rqyuk 

dh tkrh gS % 

(A) ewY; funsZ’kkad dh lgk;rk ls  

(B) miHkksDrk ewY; funsZ’kkad dh lgk;rk 

ls  

(C) okY;we funsZ’kkad dh lgk;rk ls  

(D) vHkkfjr funsZ’kkad dh lgk;rk ls  
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43. Which of the following is not the 

kind of unbiased error ?  

(A)   Accidental Error  

(B) Compensating Error 

(C) Random Error  

(D) Systematic Error  

 43. fuEu esa ls dkSu lk vufHkur foHkze dk 

izdkj ugha gS \ 

(A) la;ksftd foHkze 

(B) {kfriwjd foHkze  

(C) nSo foHkze  

(D) O;ofLFkr foHkze 

44. The kelly’s coefficient skewness is 

based on :     

(A)   Decile  

(B) Quartile  

(C) Percentile  

(D) Quantile  

 44. dsyh dk fo”kerk xq.kkad vk/kkfjr gSa % 

(A) n’ked  

(B) prqFkZd  

(C) ‘kred  

(D) iaped  

45. Calculate Median form the 

following : 

Lଶ=20, Lଵ=10, F=5, M-C=4 

(A)   18 

(B) 10 

(C) 30 

(D) None of these  

 45. fuEufyf[kr ls ef/;dk dh x.kuk dhft, % 

Lଶ=20, Lଵ=10, F=5, M-C=4 

(A) 18 

(B) 10 

(C) 30 

(D) buesa ls dksbZ ugha 

46. Charliers check is applied in : 

(A)   Mode  

(B) Geometric mean 

(C) Arithmatic mean 

(D) Harmonic mean  

 46. pkfyZ;j tk¡p dk iz;ksx gksrk gS % 

(A) cgqyd esa  

(B) xq.kksŸkj ek/; esa  

(C) lekUrj ek/; esa 

(D) gjkRed ek/; esa 
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47. Mode divides the series intotwo 

equal parts: 

(A)   True  

(B) False  

(C) Not Possible  

(D) None of these   

 47. Hkwfe”Bd lead ekyk dks nks cjkcj Hkkxksa esa 

foHkkftr djrk gS% 

(A) lR; 

(B) vlR; 

(C) vlEHko 

(D) buesa ls dksbZ ugha 

48. What is the reason for distrust in 

statistics ? 

(A)   Contradictory data  

(B) Use of data only by experts  

(C) Both (A) & (B)  

(D) None of these  

 48. lkaf[;dh ds izfr vfo’okl dk D;k dj.k 

gS\ 

(A) ijLij fojks/kh vkadM+s gksuk 

(B) leadks dk iz;ksx fo’ks”kKks }kjk gksuk  

(C) (A) ,oa (B) nksuksa 

(D) buesa ls dksbZ ugha 

49. Index number reveal the state of : 

(A)   Deflation  

(B) Inflation  

(C) Neither (A) nor (B)  

(D) (A) and (B) both 

 49. lwpdkad fuEufyf[kr dh fn’kk dks iznf’kZr 

djrs gSa % 

(A) ewY; gzkl 

(B) ewY; òf) 

(C) Uk rks (A) vkSj u gh (B)  

(D) (A) ,oa (B) nksuksa 

50. The algebraic sum of the deviation 

from mean is :    

(A)   Least  

(B) Maximum  

(C) Zero  

(D) None of these  

 50. ek/; ls fopyuksa dk chtxf.krh; ;ksx 

gksrk gS % 

(A) U;wure  

(B) vf/kdre  

(C) ‘kwU; 

(D) buesa ls dksbZ ugha 
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51. Who has given the following 
definition of Index No.? “Index 
numbers are specialized type of 
average”  
(A)   Bowley  
(B) Blair  
(C) Boddington  
(D) Secrite 

 51. funsZ’kkad dh fuEu ifjHkk”kk fdldh gS \ 

**funsZ’kkad ,d fof’k”V izdkj dk ek/; gSA** 

(A) ckÅys 

(B) Cysvj  

(C) ckSMhbUxVu 

(D) lsØkbV 

52. The mean of 20 items is 5 by 

mistake +6 is wirtten instead   of      

-6,the correct mean will be :  

(A)   5.2 

(B) 4.4 

(C) 4.2 

(D) 4.0 

 52. 20 enksa dk vkSlr 5 gSA =qfVo’k ,d in 

dk ewY; -6 ds LFkku ij +6 fy[k x;k] 

lgh vkSlr gksxk % 

(A)   5.2 

(B) 4.4 

(C) 4.2 

(D) 4.0 
53. If Σߪ ,140 = ݕݔx=5, ߪy=4, N=10 

then coefficient of correlation will 
be- 
(A)   +0.07 
(B) -0.07 
(C) -0.7 
(D) +0.7  

 53. ;fn Σߪ ,140 = ݕݔx=5, ߪy=4, N=10  

rks lglEcU/k xq.kkad gksxk & 

(A)   +0.07 

(B) -0.07 

(C) -0.7 

(D) +0.7 

54. Find out first quartile from 

following data :  

6, 9, 12, 8, 14, 13, 10, 8, 11 

(A)   12 

(B) 8 

(C) 9 

(D) 11 

 54. fuEu leadks ls izFke prqFkZd dks Kkr 

dhft, % 

6, 9, 12, 8, 14, 13, 10, 8, 11 

(A) 12 

(B) 8 

(C) 9 

(D) 11 
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55. Histogram is used for the 

presentation of following type of 

series :    

(A)   Continuous frequency 

distribution   

(B) Time series  

(C) Individual Observation  

(D) Discrete frequency 

distribution  

 55. vkòfŸk vk;r fp= dk fuEu izdkj dh Js.kh 

ds izn’kZu ds fy, iz;ksx fd;k tkrk gS % 

(A) vfofPNr vkòfŸk Js.kh 

(B) dky Js.kh 

(C) O;fDrxr voyksdu 

(D) [kf.Mr vkòfŸk Js.kh 

56. If the third and first quartile are 

56.36 and 22.16 respectively then 

the quartile deviation is :  

(A)   78.52 

(B) 17.1 

(C) 34.2 

(D) None of above  

 56. ;fn rr̀h; rFkk izFke prqFkZd Øe’k% 

56.36  rFkk 22.16 gS rc prqFkZd fopyu 

gS % 

(A)   78.52 

(B) 17.1 

(C) 34.2 

(D) mijksDr esa ls dksbZ ugha 

57. Index number is always expressed 

in :  

(A)   Percentage  

(B) Ratio 

(C) Proportion 

(D) None of the above  

 57. funsZ’kkad lnSo n’kkZ, tkrs gSa % 

(A) izfr’kr esa 

(B) vuqikr esa 

(C) lekuqikr esa 

(D) mi;qZDr esa dksbZ ugha 

58. Quartile divides series inhow 

many parts ?   

(A)   One  

(B) Two  

(C) Three  

(D) Four  

 58. prqFkZd Js.kh dks fdrus Hkkxksa esa ck¡Vrk gS \ 

(A) ,d  

(B) nks 

(C) rhu 

(D) pkj 
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59. The desired degree of accuracy is a 

statistical investigation depends 

on: 

(A)   Available resources   

(B) Nature of Problem  

(C) Object and scope of 

investigation   

(D) All of these  

 59. lkaf[;dh vuqla/kku esa ifj’kq)rk dh 

visf{kr ek=k fuEu ij fuHkZj djrh gSa % 

(A) miyC/k lk/ku 

(B) leL;k dh iz—fr 

(C) vuqla/kku dk mís’; ,oa {ks= 

(D) bu lHkh ij  

60. Probable Error is : 

(A)   0.6753×SE 

(B) 0.6754×SE 

(C) 0.6457×SE 

(D) 0.6745×SE 

 60. lEHkkO; foHkze gksrk gS % 

(A)   0.6753×SE 

(B) 0.6754×SE 

(C) 0.6457×SE 

(D) 0.6745×SE 

61. The classification method in which 

the upper limit of interval is same 

as of lower limit class interval is 

called : 

(A)   Exclusive Method  

(B) Inclusive Method  

(C) Mid-Point Method  

(D) Ratio Method  

 61. oxkZUrj ftles ,d oxZ dh Åijh lhek 

nwljs oxZ dh fupyh lhek cu tkrh gS] 

dgykrh gS % 

(A) viothZ jhfr 

(B) lekos’kh jhfr 

(C) e/; fcUnq jhfr  

(D) vuqikr jhfr  

62. Which of the following 

relationship is correct ?  

(A)   AM=√GM × HM 

(B) GM =୅୑ାୌ୑
ଶ

 

(C) HM = √AM × GM 

(D) GM = √AM × HM 

 62. fuEu esa ls dkSu lk lEcU/k lgh gS \ 

(A)   AM=√GM × HM 

(B) GM =୅୑ାୌ୑
ଶ

 

(C) HM = √AM × GM 

(D) GM = √AM × HM 
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63. Calculate Mode : 

J=5, Xഥ=40, SD=2 

(A)   30 

(B) 20 

(C) 10 

(D) None of these  

 63. cgqyd dh x.kuk dhft, % 

J = 5, Xഥ = 40, SD = 2 

(A) 30 

(B) 20 

(C) 10 

(D) buesa ls dksbZ ugha 

64. If mean =45, median =48 and 

coefficient of skewness = -0.4 then 

the value of standard deviation 

will be :  

(A)   20.5 

(B) 25.9 

(C) 15.9 

(D) 22.5 

 64. ;fn ek/; =45, ef/;dk =48 rFkk 

fo”kerk xq.kkad = -0.4 gS rks izeki fopyu 

dk eku gksxk % 

(A)   20.5 

(B) 25.9 

(C) 15.9 

(D) 22.5 

65. Reasons or causes for cyclical 

variations are :   

(A)   Inflation  

(B) Deflation  

(C) Increase and Decrease in 

sales  

(D) All of above  

 65. pØh; mPpkopu ds dkj.k gS % 

(A) eqnzk izlkj 

(B) eqnzk ladqpu 

(C) foØ; esa òf) ,oa deh 

(D) mijksDr lHkh 

66. The square of standard deviation is 

known as : 

(A)   Coefficient of correlation    

(B) Modulus  

(C) Variance  

(D) Coefficient of variation    

 66. izeki fopyu dk oxZ dgykrk gS % 

(A) lglEcU/k xq.kkad  

(B) /kud  

(C) izlj.k 

(D) fopj.k xq.kkad  
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67. Which formula is used to calculate 

decile 7 (ܦ଻) form the following ?   

(A)   ܦ଻ = ଻(ேାଵ଴)
ଵ଴

 

(B) ܦ଻ = ேାଵ
ଵ଴

 

(C) ܦ଻ = ேାଵ
଻

 

(D) None of the above  

 67. fuEu esa ls dkSu lk lw= lIre~ n’kd dh 

x.kuk ds fy, iz;ksx fd;k tk,xk \ 

(A)   ܦ଻ = ଻(ேାଵ଴)
ଵ଴

 

(B) ܦ଻ = ேାଵ
ଵ଴

 

(C) ܦ଻ = ேାଵ
଻

 

(D) mi;qZDr esa dksbZ ugha  

68. Which of the following is a branch 

of Statistics ?  

(A)   Descriptive Statistics 

(B) Infernal Statistics  

(C) Industry Statistics  

(D) Both (A) & (B)  

 68. fuEu esa ls dkSu lkaf[;dh dh ‘kk[kk gS \ 

(A) o.kkZRed lkaf[;dh  

(B) vuqekukRed lkaf[;dh 

(C) vkS|ksfxd lkaf[;dh 

(D) (A) o (B) nksuksa 

69. Which of the following measures 

of dispersion is universally used ?  

(A)   Quartile Deviation  

(B) Mean Deviation  

(C) Range  

(D) Standard Deviation  

 69. vifdj.k ds fy, fdl eki dk lkoZHkkSfed 

iz;ksx fd;k tkrk gS \  

(A) prqFkZd fopyu 

(B) ek/; fopyu  

(C) foLrkj 

(D) izeki fopyu  

70. Find the Median of given 

observations 5, 6, 11, 23, 4, 8, 20, 

2 : 

(A)   1 

(B) 7 

(C) 8 

(D) 9 

 70. fn, x, voyksduksa 5, 6, 11, 23, 4, 8, 

20, 2 ls ef/;dk Kkr dfj, % 

(A) 1 

(B) 7 

(C) 8 

(D) 9 
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71. Deflating of Index Number is 

necessary: 

(A)   For the index no. of real 

wages  

(B) For money income  

(C) for real income  

(D) None of the above  

 71. funZ’kkadks dh viLQhfr vko’;d gS % 

(A) okLrfod etnwjh ds funsZ’kkad gsrq 

(B) ekSfnzd vk; gsrq 

(C) okLrfod vk; gsrq  

(D) mijksDr esa ls dksbZ ugha 

72. On which assumption the method 

of least square is based ?  

(A)   Σ(ݕ −   ௖)ଶ = minimumݕ

(B) Σ(ݕ − (௖ݕ = minimum 

(C) Σ(ݕ −  ௖)ଶ = Zeroݕ

(D) None of the above  

 72. U;wure oxZ jhfr fdl ifjdYiuk ij 

vk/kkfjr gS \ 

(A) Σ(ݕ −  ௖)ଶ = U;wureݕ

(B) Σ(ݕ − (௖ݕ = U;wure 

(C) Σ(ݕ −  ;௖)ଶ = ‘kwUݕ

(D) mijksDr esa ls dksbZ ugha 

73. Type of bar diagram is: 

(A)   Pictogram  

(B) Sub divided diagram  

(C) Line diagram 

(D) Pie diagram  

 73. n.M fp= izdkj gS% 

(A) fp=h; vkys[k 

(B) mi foHkkftr vkys[k 

(C) js[kk vkjs[k 

(D) ikbZ vkjs[k 

74. Lagrange formula is useful : 

(A)   For Extrapolation  

(B) For Interpolation  

(C) For unequal difference in the 

value of x  

(D) All of above  

 74. ySxazst lw= mi;ksxh gS % 

(A) ckº;x.ku ds fy,  

(B) vUrxZ.ku ds fy, 

(C) x ds ewY;ksa esa vleku vUrjky ds 

fy,  

(D) mi;qZDr lHkh 
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75. What will be skewness if median 

=24 and mean =26 ? 

(A)   +2 

(B) -2 

(C) +6 

(D) -6 

 75. fo”kerk D;k gksxh ;fn ef/;dk =24 vkSj 

ek/; =26 ? 

(A)   +2 

(B) -2 

(C) +6 

(D) -6 

76. Standard deviation is always : 

(A)   Positive  

(B) Negative  

(C) Zero  

(D) None of the above   

 76. izeki fopyu lnSo gksrk gS % 

(A) /kukRed  

(B) _.kkRed 

(C) ‘kwU; 

(D) mi;qZDr esa dksbZ ugha 

77. Mean of 15 numbers is 15. If two 

numbers 18 and 12 are removed 

then mean of remaining number 

will be :  

(A)   10 

(B) 12 

(C) 15 

(D) 25 

 77. 15 la[;kvksa dk ek/; 15 gSA ;fn nks 

la[;kvksa 18 rFkk 12 fudky nh tk,a rc 

‘ks”k la[;kvksa dk ek/; gksxk % 

(A) 10 

(B) 12 

(C) 15 

(D) 25 

78. Data which an investigator may 

not be able to collect by himself: 

(A)   Primary data  

(B) Secondary data 

(C) Primary and Secondary data 

(D) None of these  

 78. lead ftUgsa ,d vuqla/kkudrkZ Lo;a ugha 

,d= dj ikrk gS% 

(A) izkFkfed lead   

(B) f}rh;d lead  

(C) izkFkfed ,oa f}rh;d lead  

(D) buesa ls dksbZ ugha 
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79. Statistics in German is called : 

(A)   Statistik   

(B) Statista  

(C) Status  

(D) Statistique  

 79. lk¡f[;dh dks teZu esa dgk tkrk gS % 

(A) LVsfVfLVd 

(B) LVsfVLVk 

(C) LVsVl  

(D) LVsfVLVD;w 

80. Find out mean mode and median 
of the given data: 
5, 8, 12, 17, 12, 14, 6, 8, 12, and 
10 

(A)   11, 12, 10 
(B) 10, 12, 13 
(C) 11, 12, 13 
(D) 10, 12, 11 

 80. fn, x, leadksa 5, 8, 12, 17, 12, 14, 6, 

8, 12 o 10 dk ek/;] cgqyd ,oa ef/;dk 

fudkfy,% 
(A)   11, 12, 10 
(B) 10, 12, 13 
(C) 11, 12, 13 
(D) 10, 12, 11 

81. Which of the following is a three 

dimensional diagram ?  

(A)   Sphere  

(B) Bar 

(C) Circle  

(D) Square  

 81. fuEu esa ls dkSu lk f=&foeh; fp= gS \ 

(A) xksyk 

(B) n.M 

(C) òŸk 

(D) oxZ 

82. The formula for coefficient is : 

(A)   ܥ = ொ
ே

 

(B) ܥ = ܳ ×ܰ 

(C) ܥ = ே
ொ

 

(D) None of these  

 82. xq.kkad dk lw= gS % 

(A)   ܥ = ொ
ே

 

(B) ܥ = ܳ ×ܰ 

(C) ܥ = ே
ொ

 

(D) buesa ls dksbZ ugha 

83. Statistics is the study of :   

(A)   Individual Unit  

(B) Aggregate  

(C) Both  

(D) None of these  

 83. lkaf[;dh v/;;u gS % 

(A) O;fDrxr bdkbZ 

(B) lewg 

(C) nksuksa 

(D) buesa ls dksbZ ugha 
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84. If 18,374.65 is approximated up to 

one thousand, the approximated 

figure will be :    

(A)   18,000 

(B) 19,000 

(C) 17,000 

(D) 20,000 

 84. ;fn 18,374.65 dks gtkj rd fudVre 

iw.kkZad rd lfUudV fd;k tk, rks 

lfUudV la[;k gksxh% 

(A) 18,000 

(B) 19,000 

(C) 17,000 

(D) 20,000 

85. Find the Geometric mean of 1, 3, 

9, 3 : 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 85. 1, 3, 9, 3 dk xq.kksŸkj ek/; fudkfy, %  

(A) 1 

(B) 2 

(C) 3 

(D) 4 

86. Lorenz curve is used depict - 

(A)   Skewness  

(B) Cumulative frequency 

distribution  

(C) Dispersion  

(D) Coefficient of correlation   

 86. ykWjsat+ oØ dk iz;ksx gksrk gS & 

(A) fo”kerk  

(B) lap;h vkòfŸk caVu 

(C) vifdj.k 

(D) lg lEcU/k xq.kkad 

87. Range from the following data will 

be  : 

10, 12, 5, -6, -15, 4, -3 

(A)   27 

(B) 18 

(C) 13 

(D) None of these 

 87. fuEu leadksa ls foLrkj gksxk % 

-10, 12, 5, -6, -15, 4, -3 

(A) 27 

(B) 18 

(C) 13 

(D) buesa ls dksbZ ugha 
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88. Formula for family budget method 

is :  

(A)   ஊ௉భ௤భ
ஊ௉బ௤బ

× 100 

(B) ஊௐ௉ோ
ஊௐ

× 100 

(C) (A) &(B) both 

(D) None of these  

 88. ikfjokfjd ctV fof/k dk lw= gS % 

(A)   ஊ௉భ௤భ
ஊ௉బ௤బ

× 100 

(B) ஊௐ௉ோ
ஊௐ

× 100 

(C) (A) o (B) nksuksa 

(D) buesa ls dksbZ ugha 

89. First moment of dispersion is :  

(A)   Quartile deviation 

(B) Standard deviation  

(C) Arithmetic mean  

(D) Mean deviation 

 89. izFke vifdj.k ?kkr dgrs gSa % 

(A) prqFkZd fopyu 

(B) izeki fopyu 

(C) lekUrj ek/; 

(D) ek/; fopyu  

90. Which of the following is the non-

random method of selecting 

samples from a population ?  

(A)   Cluster sampling   

(B) Quota sampling  

(C) Multistage sampling  

(D) All of the above  

 90. fuEu esa ls dkSu lh izfrn’kZ pquus ds fy, 

xSj ;kfnzPNd fof/k gS \ 

(A) xqPN izfrp;u 

(B) dksVk izfrp;u  

(C) cgqLrjh; izfrp;u  

(D) mijksDr lHkh 

91. Spearman’s Rank correlation 

coefficient P= 

(A)   ଺ஊ஽మ

ே(ேమିଵ)
 

(B) 1 + ଺ஊ஽మ

ேయିே
 

(C) 1 − ஊ஽మ

ேయିே
 

(D) 1 − ଺ஊ஽మ

ே(ேమିே)
 

 91. fLi;jeSu dk dksfV vUrj lglEcU/k xq.kkad 

P= 

(A)   ଺ஊ஽మ

ே(ேమିଵ)
 

(B) 1 + ଺ஊ஽మ

ேయିே
 

(C) 1 − ஊ஽మ

ேయିே
 

(D) 1 − ଺ஊ஽మ

ே(ேమିே)
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92. The standard deviation for 15, 22, 

27,11, 9, 21, 14, 9 is : 

(A)   6.22 

(B) 6.12 

(C) 6.04 

(D) 6.32 

 92. 15, 22, 27,11, 9, 21, 14, 9 ds fy, 

izeki fopyu gS % 

(A)   6.22 

(B) 6.12 

(C) 6.04 

(D) 6.32 

93. Which of the following is not a 

function of statistics?   

(A)   Economic Forecasting 

(B) Economic Equilibrium  

(C) Political Equilibrium  

(D) Construction of Economic 

models  

 93. fuEu eas ls dkSu lkaf[;dh dk dk;Z ugha gS\ 

(A) vkfFkZd vuqeku 

(B) vkfFkZd lkE; 

(C) jktuSfrd lkE; 

(D) vkfFkZd ekWMy dk fodkl 

94. An Ideal index number is one that 

satisfies : 

(A)   Factor reversal test  

(B) Time reversal test  

(C) Circular test  

(D) All above test  

 94. ,d vkn’kZ funsZ’kkad og gS tks iw.kZ djrk 

gS% 

(A) rRo mRØE;rk ijh{k.k 

(B) le; mRØE;rk ijh{k.k  

(C) pØh; ijh{k.k 

(D) mi;qZDr lHkh ijh{k.k 

95. Reciprocal of 0.0062: 

(A)   .1613 

(B) 161.3 

(C) 1.613 

(D) 16.13 

 95. 0.0062 dk O;qRØe gksxk % 

(A)   .1613 

(B) 161.3 

(C) 1.613 

(D) 16.13 
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96. The arithmetic mean of the first N 

natural number 1,2,3.........N is : 

(A)   ேାଵ
ଶ

 

(B) ே
ଶ
 

(C) ே(ேାଵ)
ଶ

 

(D) None of these  

 96. izFke N izk—frd la[;kvksa 1,2,3.........N 

dk lekUrj ek/; gksxk % 

(A)   ேାଵ
ଶ

 

(B) ே
ଶ
 

(C) ே(ேାଵ)
ଶ

 

(D) buesa ls dksbZ ugha 

97. Mode can be computed from : 

(A)   Ogive  

(B) Frequency curve  

(C) Histogram  

(D) None of these  

 97. cgqyd dh x.kuk dj ldrs gS % 

(A) vkstkbo ls  

(B) vkòfŸk oØ ls  

(C) vkòfŸk vk;r fp= ls  

(D) buesa ls dksbZ ugha 

98. Government Publication is : 
(A)   Primary data  
(B) Secondary data 
(C) (A) and (B) both  
(D) None of these  

 98. ljdkjh izdk’ku gS % 

(A) izkFkfed lead  

(B) f}rh; lead  

(C) (A) o (B) nksuksa  

(D) buesa ls dksbZ ugha 

99. A sample survey ins belter because 
it is : 
(A)   More reliable  
(B) Less time consuming  
(C) Less money consuming  
(D) All the above three  

 99. ,d izfrn’kZ losZ{k.k Js”B gS D;ksafd blesa % 

(A) vf/kd fo’oluh;rk gS 

(B) le; dh cpr gksrh gS  

(C) eqnzk esa cpr gksrh gS 

(D) mi;qZDr rhuksa 

100. Who is the founder of Statistics ? 
(A) Lord kelvin  
(B) Boddington  
(C) Got fried Achenwall  
(D) Seligman  

 100. lkaf[;dh dk tUenkrk dkSu gS \  

(A) ykWMZ dsfou 

(B) ckWfMaxVu 

(C) xksV ÝkbM ,dsuoky 

(D) lsfyxeSu 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


